1.1.1 Answers to Exercise.

11 1 1 1 1 -1 -1 1 -1 1 -1
111111 101 -1 1 -1 1
111111 1 -1 1 -1 1 -1

L(@A=17111111 D=2 1 1 1 21 1
111111 1 -1 1 -1 1 -1
111111 101 S1 1 -1 1
234 5 6 7 -0 -1 -1 -1 -1 -1
345 6 7 8 1 0 -1 -1 -1 -1

456 7 8 9 1 1 0 -1 -1 -1

) B=|567 8 9 10 ©E=|1 1 1 0 -1 -1
6 78 9 10 11 1 1 1 1 0 -1
L7 8 9 10 11 12 11 1 1 1 o0
1010 1 0 _

Lol o (f) 2C = A+ D.
101010

©C=1010101
101010
01010 1

a15 A4 @13 Q12 A11
a5 QA24 G23 G22 A21
2. (a) B=| a3s aszs azz azx as
G455 A44 A43 A42 Q41
as5 QAs54 G53 Q52  A51

G55 0As4 G53 G52 A51
G45 Q44 (43 Q42 Q41
(b) C=| ass az4 aszz azx asi
agzs5 A24 (23 a2 a21
a5 ai4 ai13 @12 Al

3. r =1 only.

4, ——

5. Start in this way:—
Suppose A is a matrix.

Denote by P(n) the proposition ‘the equality nA=A+ A+ A+ ---+ A holds’

n copies of A

6. Suppose A, B are (m X n)-matrices.

1
Determine all possible (m x n)-matrices X for which 3(X + §A) =5(X — %B ) holds. Leave your answer(s) in terms

of A, B.
3 15
X=-A+—B8B.
R 8
1 0 0 1 11
7.LetA=|0 1 0| B=|1 1 1].
0 0 1 1 11
Determine all possible (3 x 3)-matrices X for which the equality X + A = 2(X — B) holds.
3 2 2
X=A+2B=|2 3 2
2 2 3




